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1 FEHES kg >5000
2 BUETH=R kW >168
3 TFRE kg >16700
4 FRESFS m3 >35
5 HEEE mm >3479
6 B ARHEEE kN 2166
7 {ERETT (2%m ) kg 29700
8 RFHAE s >5.8
9 =IFA 3 >10
10 REEHE km/h 240
11 EANCEA ° >30
12 B/INESHR (RIEIMU ) mm 26086
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1 AFL TRERABE mm 24513
2 B HEEE mm >3479
3 C EPEEEE mm >1081
4 D TZRE mm >50
5 E S/\Eithjafs mm >431
6 F gl mm >1600
7 G 4hitE mm >3250
8 HZiNEE mm >3500
9 JBRAPORE mm >2150
10 K #RasMUEEE mm 22750
11 L BHI<E mm >8175
12 M $£[Ef ° >38
13 WENEE (71) mm 22976
14 R1 f=sHMUE S 42 mm 26930
15 R2 BRI E R mm >5786
16 PEXA ° >31
17 S1 Rt ° 243
18 S2 iz B ° >48
19 S3 BRI ° 263




20 S4 BeNEEHRA ° 246
21 T ERfEFHREEE mm >500
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1 e EB I

2 HE >9.3

3 UETh=R kW >168
4 HEBWE / E=

5 T SHBI A / 7NELE
6 HSAH / REIEE & = - TS
7 BNEEIR r/min >2000
8 BRAHAE Nm >1187
9 KEBHL V-A 28V- 70A




